
Exploded diagram and spare parts list           (FA118)                                                                                                           Rev.1 

1 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 



Exploded diagram and spare parts list           (FA118)                                                                                                           Rev.1 

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

Machine Explode  Code Description 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 1  Bottom Plate 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 2  M4*8 Large Flat Head Screw 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 3 AK428 Capacitor for Fan Motor 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 4 AK429 Fuse 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 5  M5 Hexagon Flange Nut 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 6,8,9 AK430 Power Cord Assembly 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 7 AK431 Fan Motor 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 10  Air Pipe Bracket 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 11  M5*12 Round Head Screw 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 12 AK432 Shaft Assembly 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 13 AK433 Heating Element 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 14 AK434 Heating Element Pressure Ring 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 15 AK435 Belt 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 16  M4 Hexagon Screw 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 17  Main Body Support Bar 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 18  Main Body 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 19 AK436 Handle 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 20 AK437 On-Off Switch 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 21  M4*4 Flat Head Screw 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 22  Air Pipe 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 23 AK438 Long Brush 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 24 AK439 Short Brush 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 25,26 AK440 Drive Shaft Assembly 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 27  M4*10 Hexagon Stud 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 28  M6*20 Hexagon Screw 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 29  Ø6 Spring Pad 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 30  Ø6 Flat Pad 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 31  Ø10 Non-Slip Pad 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 32  M10 Lock-Proof Hexagon Nut 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 33 AK441 Key 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 34 AK442 Motor 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 35 AK443 Capacitor for Motor 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 36 AK444 Terminal Block 

FA118 Buffalo Commercial Stainless Steel Glass Polisher 37,38,39 AK445 Feet (Set 4) 



Circuit Diagram                                                                                                                                                                            Rev.1 

3 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

 

 


